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THEY/ Time: 10.00 &3t/ hrs ¥/ to 11.30 §=t / hrs (1 1% €&/ hrs) AR AR 37F / Maximum Marks: 180

st & IreTwATE st & gFamer
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3} & forw Ider/ Instructions to the Candidates
TIRA-TF T GIETHT 6 w9 7 ¥ | Tl 36t e fAuiRor @ weat & 3R oX BT STwem| / The question paper s in

the form of test booklet. All candidates will be assessed on identical questions.
ma@ﬁwq@aa%maﬁwﬁm&m/mmmagmﬁmm, (@), @) 3k @) e §l s @
FacT Th &1 TEI & 3R G 3UFT 3k T T4 KA S| / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

Tl AEGFAS e & WY ek & oI Tt 31 — At § 3R e arerer 3ot & e v Fveré avordra ai wmop gam / Al

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

TF T & AT 3 Sea% A 9T IWHY A Iea¥ AT AT / Multiple answers for a question will be regarded as
a wrong answer.

3ccX &t o forw |elr 3 Y Ueh 37T HMTHINR Scak UF YST fHAT =T §1 / A separate OMR answer sheet is
provided to all candidates for answering.

STTHI T T AT T HegeRit bl EAeTqeer 9| AR 97 T et 3R FoRY 379G Seek 1 RAfgaa st & e

et aier aTg€ 4 (Arefi/Te) T wAeT Y| / Read the instructions on the OMR sheet carefully. Use only Ball Point Pen
(Blue/Black) for writing on OMR sheet and marking the most appropriate answer.

TeaT GIERI3T T Ifeett R TR & Fld R T AT Y a1 & ar & ar § AT &1 38 319 59 F 33 e & afeg @
ford 3R 3T w7 & atem s AET F I T 3ea UF Fr Hedishal g fHAT ST / Question booklets have been

marked with A or B or C or D or E on the right side top corner, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

GTelifoR SRS 31Ty & 3 aRYGaT o) SR &t §, R ofr 3ok e g sgeaqet § o soundsre sommeh w0 @ 379er @9 &7
mvrﬁlmwmm@gﬁm%mmaﬁﬁaaﬁlmmmﬁwaeﬁ%ﬁ?mﬁﬁ%ﬁw

W 99 3T T & | / Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

MG T g A GRECHT & ITASH FATT TR ol 1 AT ST Tevell ¥ $8% fIT 31erer ofie €T & S| / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

- FofEre advam wamed g o, TR Sear IR F 5% & et et & w12 3R Fof 3TN Sear gfeaer flrers
| T gERl gy 39es 9T T8 / On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

. qteT gATeT g 9 (1) Ff@a adie wier o e 9% wieY s = § 31 (2) 3tvAs sew o des s ai £ sk
et ot oRRPfY F srs=reff st Wrr & o ST [ / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilator and shall not be
carried by the candidate under any circumstances.
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w97 9T 12 / Question Booklet Code

01.  31% deasT & ATHS &, Foldd / In case of arc welding, the flux

(A) U3 & &Y & STg & TAT AT AT § / is used from outside in the form of powder
(B) goeis W faafid &/ is coated on the electrodes

(C) & 39AWT LT foRaT ST § / is not used

(D) 3T & T HS 37 7e1 / None of the above

02.  37eT e ST eTfaremeT T T Y & CaRT S& o feaT STl § |

Metallurgical structure of parent metal is altered by

(A) dessT / Welding (B) i/ Brazing
(C) WIes / Soldering (D) &=t (&) 3% (&) / Both (B) and (C)

03.  fwfaf@d F & fFe arg # Fdlcdd des-ad 67

Which one of the following metals has the best weldability?

(A) @IeT 5F9Td / Carbon steel (B) g /Iron
(C) SIIRIEN SEUTA / Stainless steel (D) odl @rgr/ Cast iron

04. fr=Tafad & & i AT HaTelT dos+T T IGT0T 572

Which one of the following is an example of fusion welding?

(A) g dese / Gas welding

(B) 3 des+l / Arc welding

(C) ufeRIer 3+ / Resistance welding

(D) S & arY ufHe dez=T / Thermit welding with pressure

FFARITe @ (=) / Technician ‘B’ (Welder) — 2018 — 3T$Hi3mH! / IPRC




05.

06.

07.

08.

T IT F15 / Question Booklet Code

HITeTT dog & 3iddele &l 3feqard & / Penetration of fusion weld is the ratio of

(A) des T TEs T IS / width to depth of the weld

(B) des T AigrS @ IES / depth to the width of the weld

(C) des & =isrS & et €I T AleTs / width of the weld to thickness of parent metal
(D) des TGS | HT UIc] I AICTS / depth of the weld to thickness of parent metal

31Tohar A -31T deseT & IR F T A1 HUT TET &7

" Which one is the correct statement about Inert Gas-Arc welding?

(A)  31fehT 31 3 desT AT & / Inert arc gas welding is faster
(B)  3ifoha 37Tk I A5l & des o ToIT TSI A ST aTeY LT3 T do5 T Tehel &

Inert arc gas welding can weld metals considered impossible to weld
(C)  3ifeha 31 3T dos AT do8 I Icoe] AT Y

Inert arc gas-welding produces cleaner weld

(D)  3URIed T/ Al of the above

AFATAIRIT & T lsT AT Ao UTHAT 3THST SIS T IUANT T 872

Which of the following welding processes used consumable electrodes?

(A)  TH.IMSSN. desaT / MIG welding (B) <3S des/ TIG welding
(C) ET.3mS.SM. des+1/ CIG welding (D) fA#9eT 31 desT / Sub-merged Arc welding

frfaf@a # & &l a1 des= ufshar IR-3UsisT SIS T YT FAT&?

Which of the following welding processes uses non-consumable electrodes?

(A) TUHA.3IS.SY. dese / MIG welding (B) &.3mS.S. desaT/ TIG welding
(C) €r.3mS.5M. des=T/ CIG welding (D) . TS#9 31 desT / Sub-merged Arc welding

FaeNfArgeT P (3537) / Technician ‘B’ (Welder) — 2018 — 3&dis e / IPRC




09.

10.

11.

12.

a7 TN 15 / Question Booklet Code| A

ese ufshar, foraa Tariee wiafshar garT dese & fou FAT 3ces 8ldT &, &l & G H AR ST/

The welding process in which heat is produced for welding by chemical reaction is known as

(A) WISl dessT / Forge welding (B)  wfaRIer des+T / Resistance welding
(C) 3 desT/ Gas welding (D) «uffiT des8+T / Thermit welding

EITCI37T & T ZhsT ohl Ueh ot hl Wfshd, FSaet Ueh 37elle @ erq T enq3il & gohg & i SIS+ 8 kel 3aeT
# garfase foRar ST €, 3R 53 o ete 6T STl §, &l & & 3 ST ST § / The process of joining

two pieces of metals in which a non-ferrous alloy is introduced in a liquid state between the piece of metals to
be joined and allowed to solidify, is known as

(A)  desT / Welding (B) dres%T / Soldering
(C) ¥/ Brazing (D) diEHc= / Lancing
R gest S TRl T §% FICK gensdl, Sl g8l 3 & deseT ¥, HHAR W desel fshar

STAHATS T SITdT & / For welding heavy parts such as trucks, broken motor castings connecting rods etc.,

the welding process used is generally

(A)  wfeRIer des+T / Resistance welding (B) I aeaT/ Gas welding
(C) ufficdesaT/ Thermit welding (D) Tfas dese / Spot welding

A desa AR & [T, Ty SUGeFd desT ddheils ¢

For micro welding applications, the most suitable welding technique is

(A)  soFer YsT desH / Electron beam welding  (B)  eloik 93+ / Laser welding
(C) affic degT / Thermit welding (D) 31Tk o3+ / Arc welding

Fafraer ¥ (@e=7) / Technician ‘B’ (Welder) — 2018 — 3T$di3mH / IPRC 5




13.

14.

15.

16.

7eaT qTXT F12 / Question Booklet Code| A

JoaeT 3TIRRM & AT & 3TATCT TR HT HROT BT

Inadequate penetration in case of welding operation will lead to

(A) eI 3eeT / Crack formation (B) H&IRUT/ Corrosion

(C) fawRor/ Diffusion (D)  378REsT / Under cutting

dese AR F 916, AR Foraq & U & Flg F {d §TRAT ST AT 34T AT ooy 1
sufefad I Fgrar e

After the welding operation, the residual flux must be removed from the metal surface immediately otherwise

the presence of residual flux will promote

(A) SR I13eT / Crack formation (B) HBIRUT/ Corrosion

(C) fa®xoT/ Diffusion (D)  378REsT / Under cutting

o3 TaRTg FY Gefdld #3dr & / Weld spatter refers to

(A) e / Flux (B) des+T &IV / Welding defect

(C) & 9erd/ Filler material (D) 9RIETSH / Shield

icteT TrATeleT & foIT, Wardl 3Ugert Salell § / For cutting operation, the most suitable flame is

(A) =gge / Neutral (B)  3ifRiI%Ra / Oxidising
(C) 1T =aT9= / Carburising (D) 3WRIFd H T &Is =761 / None of the above

TEHARI Y (3e=7) / Technician ‘B’ (Welder) — 2018 — 3mgdi3n<&T / IPRC &




17.

18.

19.

20.

T 9T FI1Z / Question Booklet Code

% des o1 o ToIU Woler T 3UAN9T 16T T STTaT &/ Flux s not used for welding

(A)  oral &gT/ Cast Iron (B) dIder/ Brass

(C) &IET/Bronze (D)  Ie=T SEUTT / Carbon Steel

IJAGR IR SIelT 3T Y foham ST1ar & / Black colour is usually painted on a

(A)  OfeelsT fRAfeist / Acetylene cylinder (B)  3iferdisreT RAfisT / Oxygen cylinder
(C) st fafdisY / Hydrogen cylinder (D)  =sgrer fafest / Nitrogen cylinder

3T I+t &, 31 SIaTS TaTemT & SIeR gl TTfew

In arc-welding, the arc length should be approximately equal to

(A) TS BSH Y g+ / twice the diameter of electrode rod
(B) BIHATA15 3 / 1.5 times the rod diameter
(C) ©3 & =arT/ diameter of the rod

(D) &% % =g & A1/ half the diameter, of the rod

sioteT 3, 9% EI] ST Tel=dieh gIelT AT / In brazing, the melting point of the filler metal should be

(A) 1000 fSair Afewa & F9X / above 1000° C
(B) 800 f3afr Afcwad & 3T / above 800°C
(C) 420 f33fr afeaaa ¥ F9T/ above 420° C
(D) 300 33t Afewaw & Fu< / above 300° C

TFARATe @ (35=R) / Technician ‘B’ (Welder) - 2018 — 3m$di3m=dt / IPRC




weeT gf3eT F18 / Question Booklet Code

21, Cyefafla & & Hie G I0T, U1 ¥ T F1 PR e & e A= S e?

Which of the following property is considered for controlling the porosity of the metal?

(A) 3 fderar / Solid solubility (B) gd faelgar/ Liquid solubility

(C) 3y fergar/ Gas solubility (D)  Sarar f&egar / Flame solubility

22.  fyrAtafla & T Pl 1 316 desT HT YR 61 57

Which of the following is not a type of arc welding?

(A)  TeITSHAT/ Plasma (B) dcyd urqAe / Electro-slag

(C) fA#e=T/ Submerged (D) arg-UEfeel / Air-acetylene

23.  frAtafad gerdl F & sl ar 31ded Jes< & AU 3ol w1l &2

Which of the following materials are not suited for cold welding?

(A) YTl / Brass (B) ¥4I/ Steel

(C) TSI/ Silver (D) @O/ Gold

24. QI colITEeeh o< T3 & I FHIT 1 TR FT 57

What is the cross-sectional shape of a thermoplastic welding rod?

(A) BT/ Triangular (B) wceIvfRI/ Hexagonal

(C) @/ Square (D) =3 / Pentagonal

aFafrge dr (=) / Technician ‘B’ (Welder) — 2018 — JTEHI3mR{ / IPRC




25.

26.

27.

28.

Fafof@a &7 & 59 R W, degaaar s 787 axar?

=T 9T F1E / Question Booklet Code

On which of the following factor, does weldability not depend?

(A)  FaYsITeh / Boiling point (B)

(C) ardrT 948 / Thermal expansion (D)

HAZ &7 379 §7 / What does HAZ stand for?

(A) e arfaa &7 /' Helium Aerated Zone
(B) dcd &19%el &1 / Heated Area Zone
(C) FSHT Wi &1 / Heat Affected Zone

(D) AT 37IA &1 / Heat Allowed Zone

3T FSAT ATfordT aTer geraf & Rrererar &

Materials having high thermal conductivity are to melt.

(A) =f&sT/ Difficult (B)

(C) HEIH/ Moderate (D)

ITeTeTieh / Melting point

FSHT gifeldr / Thermal conductivity

31d1T / Easy
SRIET H A S5 oY 181 / None of the above

Taegel 31 7€ # Scfe AT & AT T Felieh FAT §?

What is the order of temperature of heat produced in an electric arc furnace?

(A)  3000°C - 4000°C (B)

(C) 5000°C - 6000°C (D)

4000°C - 5000°C
6000°C - 7000°C

dEeAAge dY (de=7) / Technician ‘B’ (Welder) — 2018 — 3mEd3mY / IPRC




29.

30.

31:

32.

g3 gfeT 13/ Question Booklet Code

31T 3 gy U SOIFCIS 37T deh ohT Gl T T g STl 72

The distance from the center of arc to the tip of electrode is called what?

(A) 3 g/ Arc distance (B) 3 &iaTs / Arc length

(C) 37k sheX / Arc crater (D) 31T 3RS / Arc depth

3T doae AT YT T 39197 T ¢ | / Arc welding machine uses supply.

(A) wEr/AC (B) I=fr/DC

(C) I @afr / All of the above (D) 39 #H & #IS =T8T / None of the above

e dez 3raeunsl & v g vk & soareis &7 f3ass fhar T g?

Which type of electrode is designed for various weld positions?

(A) g eTa / Fast il (B) gd fg#eT/ Fast freeze

(C) caRa oR1a / Quick fill (D) o fgAA / Fill freeze

AT doseT SIEhER T gaTaT 4T §2 / What is the efficiency of an A.C. welding transformer?

(A) 06 (B) 07
(C) 0.8 (D) 0.9

a=Nfre ‘Y (§¢3X) / Technician ‘B’ (Welder) — 2018 — 3m§di3mY / IPRC
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33.

34.

35.

36.

9T 9FAFT H15 / Question Booklet Code

31T Gelerels FeTTel o folw ShleT & T2l o7 3UANT 18T fomar Srar &7

Which material is not used for making non-consumable electrodes?

(A) &/ Carbon (B) API5T / Graphite

(C) @IfsT#/ Sodium (D) EIeeT/ Tungsten

g ST AR H JAfdse et i AT Far §2

What is the amount of carbon contained by a soft steel wire?

(A)  0.1% T/to 0.18% (B) 0.15% T/to 0.22%

(C) 0.18% @/to 0.26% (D)  0.2% Vo 0.27%

el 3T desaT 7 et T IIAT fhaT SITAT &2 / Why is carbon used in carbon arc welding?

(A)  Folerels 311 W 37f&e FSAT &7 3eurest / Generation of more heat at electrode tip
(B) SIS 33T IR F3T FSHT T 3edTesT / Generation of less heat at electrode tip
(C) TaelusT &I ST & / Provides coating

(D) =R ST ST IW T ¢ / Fixed polarity is maintained

T 37T Jos+T T TTehdT T 3TN g qere & e 78 frar sar §72

The process of carbon arc welding is not used for which of the following material?

(A) @/ Copper (B) @I/ Bronze

(C) dider/Brass (D) g /Iron

d&aAarae &l (de=X) / Technician ‘B’ (Welder) — 2018 — 3m$di3meY / IPRC
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37.

38.

39.

40.

w37 gfaT S5 / Question Booklet Code

1] 3T o3+ H UATCHe Seels ST dTTATT 1 &7

What is the temperature of the positive electrode in metal arc welding?

(A) 2300°C ' (B) 2400°C
(C) 2500°C (D) 2600°C

T doa #, U ga¥ ¥ afesd ae & U1 3 33 B &7

How the metals to be welded are connected to each other in spot welding?

(A) fega #ush / Electric contact (B)  Teehiar &1 / Magnetic field
(C) Tif3% &1d / Mechanical pressure (D) YcTeT ¥9e / Direct contact
o3 & leT AT TIAROT doseT T THR el 672

Which of the following is not a type of diffusion welding?

(A) T de=+T / Gas-pressure welding

(B)  fraTer TereleT dessT / Vacuum fusion welding

(C)  JTcieTshitcieh HaTeled st / Eutectic fusion bonding

(D) 'gﬁT:FcTRE TaTeleT deasT / Eutectoid fusion welding

AT doseT H SEATS s gaiaie gfed T §?

What is the minimum frequency used in ultrasonic welding?

(A) 10,000 Hz (B) 20,000 Hz
(C) 30,000 Hz (D) 40,000 Hz

aF=Rrge dr (3=7) / Technician ‘B’ (Welder) — 2018 — 3§ / IPRC
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41.

42.

43.

44.

a7 93T H15 / Question Booklet Code

HIFESTT FicteT GTShaT 7 SEAATS g1t dTelT dhele] 214 3 3UCTe gt r Tear & 82

What is the number of openings available in the cutting torch used in oxygen cutting process?

FIET TN deaT o fav oA f@a & ¥ sl O AR &1 39aYer 787 Rrar 57 Gehar &7

Which of the following methods cannot be used for welding carbon steel?

(A) 37 deseT / Arc welding (B) dRTdese/ Gas welding

(C) WRI#e des+T / Ultrasonic welding (D) IeT 3¢ / Forge welding

SIRTE gEaT & fav Feafaf@a faftt # & ie ar wdfcaw s &7

Which among the following methods is best suited for stainless steels?

(A)  Taegd cah des / Electric butt welding

(B) ¥geT dessT/ Seam welding

(C) worerd faeIfid 31 93+ / Flux coated arc welding
(D)  3iTHI-gISEISIeT des<T / Oxy-hydrogen welding

SR SEATA T 3HeireleT fohd ATIHTeT 9T foRdT ST §72

Stainless steels are annealed at what temperature?

(A)  650°C - 700°C (B) 700°C - 750°C
(C)  750°C - 800°C (D) 800°C - 850°C

TaaAIae dY (3esT) / Technician ‘B’ (Welder) — 2018 — 3m&di3n& / IPRC
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o7 9fX&T 18/ Question Booklet Code

45. =33 FieT AT STEIUR T TS e oTa1 62 / Which of the following is not a type of developer?

(A) s goT/ Dry powder
| (B) aﬂgﬂmﬁﬂm / Water soluble developer
(C) e geferelier TR / Oil soluble developer
(D) SieT fycifad SdeldR / Water suspendible developer

4.  farael 8% & ToIT EXRT 3 3fcrdfersh $NeT Tg=Y o= e 82

For how long is a penetrant allowed to soak in cracks?

(A) 5% 15 fAsIc/ 5 to 15 minutes (B) 10 % 30 fAc / 10 to 30 minutes
(C) 15335 fA=Tc /15 to 35 minutes (D) 20 & 40 fAT/ 20 to 40 minutes

47. g 0T & 3adere ST 39T fRar SITaT §2 / Penetrants of which colour are used?

(A) @/ Red (B) e/ Blue

(C) &/ Green (D) drem/ Yellow

48.  ior stereferet TRETOT AT AT e & & R G T e A8 ST ST Hehell 62
Which of the following defect is not detected by dye penetrant test?

(A)  3rEnfcaes ATGRI / Non-metallic inclusions
(B) T&x/Leaks

(C) &R/ Cracks

(D) ST &N/ Forging defects

asafRae dr (3=X) [ Technician ‘B’ (Welder) — 2018 — st / IPRC




49.

50.

51.

52.

TesT 9T 15 / Question Booklet Code

SelIfEaT & ToIT fohcell §Y &9TaT 2 / What is the amount of time taken for blotting?

(A) 5fA=T/ 5 minutes (B) 10 fA=E/ 10 minutes

(C) 15 TAsT/ 15 minutes (D) 20 &=/ 20 minutes

ehra 0T fRET0T , AT SISt # & ot &7 Il 8T oo ST Hehell §7

Which of the following defects are not detected by magnetic particle inspection?

(A) 95 IR/ Surface cracks (B) #HsamiIdsT &R / Quenching cracks

(C) F®HII &R/ Thermal cracks (D) #ifd &I / Fatigue cracks

ehier ot TRIEToT I, e f@e verit & & forgent aror fRaT o1 HeraT §72 /

Which of the following materials can be tested using magnetic particle testing?

(A) dIder/ Brass (B) =TUrd/ Steel

(C) &i¥g/Bronze (D) HIesY/ Solder

el BT YR A HHAIcT T IdT STl 3 TGIIS &2

Which current is helpful in detecting sub surface discontinuities?

(A) 3= 3mgfcd WY / High frequency AC (B)  feie=T 3mgfca WY/ Low frequency AC

(C) ot aer 3/ Full wave DC (D) 37T aXar ST / Half wave DC

TERNTRTe Y (de8) / Technician ‘B’ (Welder) — 2018 — 3m$dfi3m&Y / IPRC
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TeeT GT¥eT F18 / Question Booklet Code| A

53. g faodsT & @1 Jaehir FHUT T oy STehTer & oM< ST Sl &2

Magnetic particles with fluorescent coating are seen under which light?

(A)  2dd 12T/ White light (B)  37aard YehIRl / Infrared light

(C)  <TH WehIer / Black light (D)  TRIEaTEAT Sehrer / Ultraviolet light

54.  STa¥-STRT YTelel & 3ce=T HSAT 4T &7 / What is the heat generated in eddy current operations?

(A VI (B) VIR
(C) IPRT (D) 'R

55. WW%WWW%W@H#W*%EW@F%@WMWWFW measuring glue

line thickness between aluminium sheets, what should be the thickness of the sheet?

A 12/ 1.2mm (B) 1.4f#/1.4mm

(C) 1.6 fA.#/1.6 mm (D) 1.8 TH#A/1.8mm

56. g garT AfFd Rea @1 &1 STia & / The film produced by an X-ray is called as a.

(A)  Xf3Frem®s / Radiograph (B) USHIIN®E / Exograph

(C)  METaTH / Gammagraph (D)  IEHE / Photograph

FEeNRrge dr (=) / Technician ‘B’ (Welder) — 2018 — JT$HI3mT / IPRC 16




57.

58.

59.

60.

2T 93T F1 / Question Booklet Code

MEIR) T ITAATF FAT &2 / What is the melting point of pure iron?

(A)  1500°C (B) 1535°C
(C) 1570°C (D) 1605°C

ITeleT ol STSTTC el UR shisT AT SlgT S=7clT &2 / Which iron is formed when the melt is frozen?

(A) UWewr/Alpha (B) dICT/Beta

(C) 3T/ Gamma (D) 3T/ Delta

AT SAIgT H STTeleh T AT YR §2 / What is the kind of lattice in a gamma iron?

(A) Y& shied = / Face centered cubic

(B) T4z fga g=irg / Body centered cubic

(C) weaviT fo1eg / Hexagonal closely packed
(D) aqwfrcvﬂwﬁaa/ Tetragonal closely packed

VT cllgT shael 31aer H Hisig §1 / Alpha iron exists only in condition.
(A) 3T dgATT / High temperature (B) R8T IT9HT / Room temperature
(C) 3= g/ High pressure (D) TeF=T e/ Low pressure

a&eirge P (de=T) / Technician ‘B’ (Welder) — 2018 — 3mSd3mY / IPRC
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Test held on 21.04.2018 for Selection to the Post of
Technician ‘B’ (Welder) — Post Code:020
vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY
Question Booklet Code A
_Qn.No. | Ans.Ke Ans. Key
01 B B
02 A 32 C
03 B 33 C
04 5 e 34 A
05 D 35 B
06 D 36 D
07 A 37 D
08 B 38 C
09 D 39 D
10 C 40 B
11 C 41 D
12 B 42 Cc
13 A 43 A
14 B 44 C
15 B 45 C
16 B 46 B
17 D 47 wokk
18 B 48 A
19 C 49 B
20 C 50 A
21 C 51 B
22 D 52 C
23 B 53 D
24 A B D
25 A 55 C
26 C 56 B
27 A 57 B
28 D 58 D
29 B 59 A
30 C 60 B

*** Questions not considered for evaluation



